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Example 2

2)If it takes 4.00] of work to
stretch a spring 10.0 cm
from its unstretched length,
determine the extra work
required to stretch it an
additional 10.0 cm.
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Example 3

3)What is the work done on a 0.5 kg peach that &A
starts at rest and is accelerated to a velocity of VetV
10 m/s. 1 I -%—:’-J 2{
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4)A sled of mass # is given a kick on a
frozen pond. the Kick imparts to it an \I\,
initial speed of 2.00 m/s. The coefficient

of kinetic friction between the sled and
the ice is 0.100. Using energy FJ\
considerations, find the distance the sled
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5)A 700 N Marine in
basic training climbs a
10.0'm vertical rope at
a constant speed in
8.00 s: What is'his

power output.
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Extra 2
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